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(1) 15m+2= (2) 30m=4m=
(3) 320M+-6= (4) 827K ~9AK=
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(1) 32+5= HFEL) ZUDOHE X + =
(2) 17+8= HEY LASHE X + —
(3) 31+4= HFEL) ZUDOHE X + =
(4) 60+7= HEL ZUHhoHE X + =
(5) 75+8= HFEL) ZUDOHE X + =
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(1) 15+-2= 7 HZEl) (2) 16+-3= &HFEV) 3 11+2= HZElY)

(4) 23+3= HFY (5) 19+2= HZxV) (6) 13+4= HZEV)
(7) 25+3= Hxl) (8) 18+4= HZxl) (9) 21+5=  H%Y)
(1) 38+4= HFEY (1 156+6= HFY (1) 35+4= HFV
(1) 42+5=  HFEV (1) 25+-6= HFV (1) 156+7= HEV)
(16) 29+-4=  HFV (1N 40+-6= HFY (18) 36+7= HFEV
(19 20+-8= HxEY (20) 28+-3= HFY (21) 38+5= HFY
(22) 50+-6= HFY (28) 70+8= HFY () 13+2= HFEY
(%5) 55+9=  HF (26) 35+-8= HFE (2 20+-6= HFY
(8) 65+7= DHFEY (29) 41+-5= HFY (30 39+4= HFY
M 11+-5= HFY () 37+9= HFY (8) 41+-6= HFY
(3) 36+-8= HFY (3) 34+7= HFEY (36) 61+-9= HFEY
3N 31+4= HFY) (%) 79+8= Hx!) (39 53+6= HFEY

(40) 89+-9= HFEV)
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